A #L & £ BaEos

. AN N=2/N N 7= . AN :
E%ﬁgi%g?E&%ﬁM%kEﬁﬁm B () i;mﬁﬁ; nzl%gSﬁe, 18 1410
¥ 1T & ROETR = P
ST - EAETHA 1,486,000/ | £ # 17 REMBRE X £&—
o EH -REWE PR B8 FEFE BH B
1 o £ 1 = % 2 [ % 3 [E AfLBmE
= kel il ot E] = @ |E| = @ |[E| & @ |&E| & & | &\ | 2E
1 | BRVFR/KERERILE SRR 1,800,000 O
2 | EEARKFAEMILA LR 1,800,000 O
3 | IR RIS S 1,700,000 O
4 | BAKEER R RILXE 1 1,400,000 O
5 | MAARLYTREILEERT 1,900,000 O
6
7
8
9
10
11
12
13
14

* ZZHIREEIL, AFLECEEEED 1 007D 1 OITAEL T HREZME L -288L T 5,




